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4 0 54000 2
3 4 5
2 5.4x 10 3 5.40x 10*
7.4000 54609 5
33.15 0.07020 4
0.0276 2.56x 10710 3
49 0.00040 2
0.003 4% 10° 1
63000 200
2
1
3.0113 41.25 0.357
3. 0113
?
41 .25
?
+ 0.35°7
44.51?33*‘-44.52
TR
41.25 5 446183
1
44 .62

3. 0113 3 oy

41. 25—=

41. 25

0. 357-—= [, 38

44. B2



1.211 12

1 211
bl
¥ 12
bl
2 422
YR
12 11
v
14 532
-
12 2 14.532 4
14
1. 211—=
12 - i 3
2 4
12
14, 4_}14
3
10 2345 4
1g2345=3.3701 4 “ 3
1g2345=3.370 3 2345
pH c H" =4.9x 10mol- L
pH=-Igc H" /c®=10.31
pH=10.31 c H c H" =4.9x 1071
4.898x 1071
4 7
.

8.78 3 7 4



Ml MZ
2
1gCuS0,- 5H,0 my
—0.49CuS0,- 5H,0 m,
—0.49CuS0,- 5H,0 My
3 M,

m; -m, my=My

E-N OO \C R

0.3
0.3



+ =
+ m=
0.3-0.4g 1 +CuS0,- 5H,0
+ =
+ m2:
1 W,=
0.3-0.4gCuS0,- 5H,0 2
+ =
+ m3:
2 W,=
3 +
1+ W
+ =
1+ Wy M,= W =Ms-My=
+ =



W 2:M4_M2:

3.
+
mlz m2:
m2= m3=
Wl: W2—
+ M3: M4_
M= M=
W= W,
|W1‘W 1|: |W2‘W 2|:
2
1
12¢ 1/12 A,
E A atom r relative
E element
19
1919  Aston F.W.
IUPAC International Union of Pure and
AppliedChemistry
Commisson onAtomic Weights and Isotopic Abundances
A, E
A, Mg
HCI
Mg+2HCI - MgCl,+H, 1
Myg HCI
\% nH,
_ PayV
Mo = Ry
pH, Pa R R=8.3143/ mol- K
T K

nH, ny=1 1



Mg
=nH., =
nMg n 2 MMg
_ Mug
Mo nH,
Myg A, Mg
2.
1
2
3
4
3.
1
2
3 2-1
4 13 O’l
5 2mL 6mol- L~*HCI
HCI
6
1—2min
0.1mL
.



MMo/9
V:UmL
V2mL
VH2mL
X
pPa
pHZO/Pa
nHZ/moI
Ar Mg
A -A
x 100%
A
5.
1
2
3
1.
12C
1/12 M,
M, CO,
29.0
m
M, (CO,) = —=2x 290
m
mco, m
2.
1
2



1
2
Smin m,
1mg
3
4
5
4.
T/K=
p/Pa=
+ m,/g=
CO,+ /9=
CO,+ /9=
CO,+ m,/g=
+ ms/g=
m;-m, _
100 M=
_m
m TR 97
m,= my-m /9=
mco,= my-m, /9=
M, CO, =
5.
1
2 + My
4
1.

3 C0,



NaOH HCI

HCI

mol- L7t

10 Wyey =10

kg- L™



3.
1
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a C.V
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K9 :{C(H+)/c“’}- {c(In")/c*}
2 c(HIn) /c®
c(in)/c®  K?
c(HIn)/c® c(H*)/c?
c®=1mol- L
c Inn  /c HIn c H' c Inn /c HIn =10
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pH
0.1000mol- L~!NaOH 0.1000mol- L7*HCI

1 HCI
¢ H" =0.1000mol- L™ pH=1.00
2 HCI
.. C(HCI)x HCl
c(H") =
NaOH 18.00mL 19.80mL 19.98mL pH
2-1

3 NaOH 20.00mL c H =c
OH"  =1.00x 10 'mol- L *pH=7.00

4 pH NaOH

c(NaOH) x NaOH

c(OH") =



pH=14 .00-pOH=14.00-

-lg ¢ OH

NaOH 2-1
2-1 0.1000mol- L'  NaOH 20.00mL 0.1000mol- L™'HCI
NaOH/mL HC1/mL NaOH/mL| ¢ H" /mor- L% pH
0.00 0.00 20.00 0.02 1.00x 107% 1.00
18.00 90.00 2.00 0.04 5.26x 1072 2.28
19.80 99.00 0.20 0.20 5.02x 1074 3.30
19.96 99.80 0.04 2.00 1.00x 1074 4.00
19.98 99.90 0.02 5.00x 107° 4.30
20.00 100.0 0.00 1.00x 10~' 7.00
20.02 100.1 0.02 2.00x 10710 9.70
20.04 100.2 0.04 1.00x 10730 | 10.00
20.20 101.0 0.20 2.00x 10711 110.70
22.00 110.0 2.00 2.10x 10”12 11.68
2-1 2-2 19.80mLNaOH
pH 2.3 0.02mLHCI
0.02mLNaOH NaOH 0.02mL 0.02mL 0.04mL
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2 0.1mol- L"NaOH 30s
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VNZzOH /mL 0.00 0.00 0.00
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+ 9, - )
K‘P (HAC):{C(H )/C } {C(AC)/C }
c(HAQ) /c?®
K® HAc
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2
HAC 25.00mL
NaOH HAC 0.00mL
3 3 0.04mL
NaOH /mol - L7t
HAc /mL
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25.00mL  5.00mL 2.50mL
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L/A R
A L
G=k— k=G—
L A
% m 1m? S/m
1m? m
AW 1mol Im
c mol- Lt
1mol 1/c L 1/c 1073m
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1
2
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1
3 100mL
HAC
HAC /nL H0 /L HAC /mol - L~ K/s- mt
1 12.00 36.00
2 24.00 24.00
3 48.00 0.00
2 1-3 HAC
3
HAc A _= S m> mol?
1 2
1
HAC /mol - L
k/s- ml
K®  Hac
4.
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1 HAc
2 HAc H*
5 HAC
5 . *
1 1-3
5mL HAC
HAc  /mL| H20  /mL HAc  /mol- L7t k/S- mt
1 1.50 3.50
2 2.50 2.50
3 5.00 0.00
2 1-3 HAC
3
8
1.
3 KH,PO,
2.
1
2 pH
3
3.
1 2.3g
250mL
2 25.00mL 250mL
NaOH
3 3
0.04mL 3
4 25.00mL
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3.
2-3 3x 5cm?
CuSO, 1L 125¢g 2.5mL  H,S0,
2/3 CuSo, 1.5cm
10V 90 100Q 100mA
0.1mg
100mA
1h
4.
m/g m /g
m= m =
t/S
1/A
N Itx 635 Itx 635
A = -
mx 2x 16- 107 2 m x 2x 16x 10"
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1
2
10
1.

Cu 10, , s ==Cu** aq 210; aq
Ke Cu 10; ,



K¢ Cu 10, , c Cu* /c* {c 10® [c*}?

sp

Cu 10; , c Cu* ¢ 10
3
c Cu® cu®*
cu?t Cu NH, , %
A A c Cu* A-c Cu®*
Cu 10, ,
A" A" c cu*
Cu 10, , c cu*
2.
1
2
3
3.
1 Cu 10; ,
Cu 10; , 1.5¢g 150mL 100mL
70—80 15min 2h
2
1 4 50mL 1.0 2.5 5.0 7.5mL
Cuso, 0.1000mol- L*
2 4 10.00mL 25mL
10.00mL 1mol- L' NHy;- H,0 10.00mL
10.00mL1mol- L™*NH;- H,0
3 610nm 2cm 721
3 Cu 10, , c cu®
10.00mL Cu 10, ,
10.00mL 1mol- L™*NH;- H,0
4. Cu 10 ,
1 3 3 c
cu®

2 ¢ Cu* K¢ Cu 10, ,



1 Imol- L7*NH;- H,0
Cu 10; ,
3 Cu 10; ,
11 5-
1.
A b c
A=¢ bc
- €
5-
cu®* pH=5
pH=5
Vi Vg=
VM VR
A
MR,
M nR==MR
c(MRn)/c®
v = @)

“{e(M)/c*} {c(R)/c®}"
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C X

{c(x)}

" [{e(M )} - (IR ,)} - (e} "

{c(4) (2)

" [{e(M,)} - {cCONHe(R,)} - n{e()}]”

HR  H,R

-n C X
H4R
H,R
NaClo,  KNO,

2.

cC X 1
K(P
MR -
K‘P
K® 2-5
5- HaR
R H==HR
c(HR)/c®
K (H) = 20
{c(R)/c®}{c(H) /c®}
IgK,
HR H==H,R
c(H,R)/c’
Kg (H) = ——Hz0)
{c(HR) /c® }{c(H) /c*}
Igk¢ H =26
CuR
2 c R, -nc x n
n 5-
pH )
c Ry, -n ¢c x -c HR -c H,R
=5- nx

H

=116



1
1 0.050mol- L*
2  0.050mol- L' 5-

3 1mol- L 'NaOH 0.05mol - L "*NaOH
0.1mol- L KNO,
4 0.0imol- L™* HNO, pH=5  HNO,
2 0.050mol- L 0.050mol- L™
5_
1 3 4 5 6 7 8 9 101 11
v /mL 2| 4| 6| 8| 10| 12 14| 16| 18] 20| 22
5- Vo /nL| 221 20| 18| 16| 14| 12 10| 8| 6| 4| 2
v 2345|1868 78 |8p
v +V 12 |12 |12 |12 |12 12 12 |12 12 |2 12
3
imol-  L™*NaOH pH 4 0.05
mol- L ™*NaOH pH 4.5-5  pH 5 0.01mol- L*HNO,
pH 50mL pH
5 HNO,
4 721 440nm
440nm 5-
5 A 2 6 10mL
25mL pH 5
6 440nm
4.
- CuL, n
- K
5.
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J ¢
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T, 10%s
2
NH, ,S,0q KI
S,05
NH, ,S5,05 KI
S07 +3" - 2S0; +1; @)
.
3= 280 ke (S,05 )c°(17)
Ac S0F At S,0%
NH, ,S,0q KI Na,S,05
S,0¢ I 5 S,0%
25,0 1,.S,0% 3 2
2 1 1 I, S,02
S0 I S,0% I
S,05
S,0;
Ac S0> =Ac S,0% /2
At At
S,0% Ac S,07
Ac S0 3
S0 I
lg J =dg c S,0¢ /c° blg c | /c® lg k
k k
c I c S,0% lg J lg ¢ S,0* /c°
a c S0% ')  IfY
lg[c(l™)/c®] b a b
‘= J
c*(S,05 )c’(1")
k
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1
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1
2
3
3.
1
3 20ml 0.20mol- L™ Kl 8.0ml 0.010
mol- L™ NayS,05 4.0mL 0.2 150mL

20mL0.20mol- L' NH, ,S,04

3-1 4
0.20mol- L™ KNO,
0.20mol- L™ NH, ,SO,

3-1
1
0.20mol - L™" NH, 8,05 | 20| 10| 5.0/ 20| 20
0.20mol - L~ Xki 20| 20| 20| 10]5.0
0.010mol - L_lNaZSZOB 8.0| 8.0| 8.0| 8.0|8.0
/mL
0.2 4.0 4.0| 4.0 4.0
0.20m01 - L7KNO, ol o| of 10] 15
1
0.20mol- L™ NH, S0, ol 10| 15] o o
NHy 55509
/mol- L1 |k
A t/s
S,05 Ac S,0g /mol- L™
«(S,0g")
J=—287 . UL st
t




150mL NH, ,S,0g
0 NH, ,S,0q KI
10 20 30 3-2
3.2 lg kK 1T 1
3-2
/
/s
J=mol - L L S !
3
150mL 10mL 0.20mol- L™*KI 4.0mL 8.0mL
0.010mol- L™* Na,S,0, 10mL 0.20mol- L™* KNO, 1
0.02mol- L™ Cu NO; , 20mL 0.20mol- L™
NH,  2S,0g
4.
1
2
1.
1 F10 Lo
Enter Alt
2 (T



4 “ 0K”

2.
4
1
Tab
ESC
" F2

2

3

4

Esc AIt+F3

/* chem.h*/

i1 fndefCHEM_H

Shift+Tab

Cancel



define CHEM_H

const
const
const
const
const
const
const
const
const
const
const
const
const
const
const
const

int
int
int
int
int
int
int
int
int
int
int

cminput1=200 \assign new command values

cminput2=201
cminput3=202
cmInName=203
cmMySave=204
cmDosShel 1=205
cmDraw=210
cmAnswer=211
cmCheck=220
cmDeleteAll=221
cmAbout=230

char*PASS=" pass”
int Y=8

int

BX=1

int WX=26
char KEY=0X84

struct HData

int x vy
char*text
hint 8 =
5Y "
3 Yy "
5 Y+2 "
35 Y+2 "
5 Y+ "
35 Y+4 "
5 Y+6 "
35 Y+6 "
typedef struct
int cx cy
int x1 x2
int yl y2
XYP
typedef struct
float x vy
POINT
HData hint2 3 =
10 4 "
10 4 "

10 4 "

-

0"

I



char*hint3 6 = " 11] I "
n m I n n n

n n n n

const int DX=25
constintDY=25

struct DialogData

char Data 8 [15]
*pInData

float ¢ s208 c_1a s208 3 1a[3] sj[3]1 1j[3]

float EA kka a b k T 4 K[4]

float Igso 3 lgsj[3] lgia[3] 1gij[3]

float lIgk 4 Tt[4] tmpl tmp2 tmp3

int flags 6 \O--name 1-3--inputl-3 4--Menulnputvalidflag
\5--MenuResulevalidflag.

/* TPasslnputLine */

class TPasslInputLine public TInputLine

virtual void draw void
public
TPassInputLine const TRect int

/* */
class Tshow Window public TWindow

public
TTerminal*interior
TShowWindow TRect  bounds constchar*winTitle
ushortwindowNo
TShowWindow

TTerminal*makelnterior intsize
void showFile char*fileName intsize intflag

/* */
class TChemApp public TApplication
public
TChemApp
TChemApp
static TMenuBar*initMenuBar TRect
static TDeskTop*initDestTop TRect



pr

/*

ivate
TCommandSet WinCommandl WinCommand2
TShowWindow*pShowwWindow
*/
void clearFlags void

void cal int num float*x float*y float*a float*b

void cal_data void /* */

void init g void /* */

POINT trans 1int cx int cy POINT point
void sp XYP xp int num float*x float*y
void dline XYP ct float a float b

void darrow int flag

void draw_x y XYPpl /* */
void mydraw void /* */
void save_soore void /* */

virtual voidhandleEvent TEvent event

int newDialog intflag char*str

void Insert TDialog*pd HData d

int GetData float*desl float*des2 chartext
void myCheck void

void ShowHelp void /* */
void showShowWindow void

int CheckPass void

#tendif

/* chem.cpp*/

#i

#1

include stdio.h
include ctype.h

nclude conio.h

include graphics.h
include string.h
include math.h

nclude stdlib.h
include 1io0.h

include alloc.h include fcntl.h
include strstrea.h
include fstream.h
include dir.h

define Uses TEventQueue
define Uses Tevent
define Uses_Tprogram

[15]

intnum



define Uses Tapplication
define Uses Tkeys
define Uses Trect
define Uses TMenuBar
define Uses_TSubMenu
define Uses_Tmenultem
define Uses TStatusDef
define Uses_TDeskTop
define Uses_Tview
define Uses Tframe
define Uses Tdialog
define Uses Thutton
define Uses_Tlabel
define Uses_TinputLine
define Uses_ MsgBox
define Uses_Twindow
define Uses Tterminal
define Uses otstream

include tv.h
include” chem.h”
/* TPasslnputLine*/

TPassInputLine TPasslnputLine constTRect bounds intaMaxLen
TInputLine bounds aMaxLen

void TPasslInputLine draw void

char buf 128
int len

len=strlen data
memcpy buf data len

for inti=0 1 len 1
data 1 = *

TlnputLine draw

memcpy data buf len

/*  TShowWindow*/



TShowWindow TShowWindow TRectbounds constchar*winTitle
ushort windowNo

TWindowlnit &TShowWindow initFrame

TWindow bounds winTitle windowNo

interior=makelnterior 1024

TShowWindow TShowWindow

remove interior

TTerminal*Tshow Window makelnterior intsize

TRect bounds=getExtent
bounds.grow -1 -1
return newTTerminal bounds 0
standardScrolIBar sbVerticall sbHandleKeyboard size

/* TChemApp*/
TChemApp TChemApp
TProglnit &TChemApp i1nitStatusLine
&TChemApp 1nitMenuBar
&TChemApp initDeskTop

pInData=new DialogData
WinCommandl+=cmlinputl
WinCommandl+=cmlnput?2
WinCommand1 cminput3
WinCommand2 cmMySave
WinCommand2 =cmDraw
WinCommand2 cmAnswer
disableCommands WinCommandl
disableCommands WinCommand2
clearFlags

chdir " \\score"

TChemApp TChemApp
delete pInData

void TChemApp showShowWindow void



pShowWindow=new TShowWindow TRect WX 1 WX 52 21
" " wnNoNumber
deskTop— insert pShowWindow

void TShowWindow  showFile char*fileName intsize=1024
intflag=0

inti

remove interior

destroy interior
interior=makelnterior size
insert interior

otstream os interior
ifstream is fileName

is unsetf ios skipws

char st 128

while is.eof
if flag
IS read st 128
for 1=0 1 1is.gcount i

st 1 "=KEY

else is.getline st sizeof st

0s st
if flag
0s endl

interior— scrollTo 0 O

void TChemApp clearFlags void

inti

strcpy s no " 0"
for 1=0 1 4 1i++
flags 1 =0

void TChemApp myCheck void

char f name 16
FILE*fp



TDialog*pd
TView*b

showShowWindow

Pd=new TDialog TRect BX 4 BX 22 16 " "

b=new TInputLine TRect 3 3

pd- insert newTButton TRect
cmOK bfDefault

pd- insert newTButton TRect
cmCancel bfNormal

pd- insert b

pd- insert newTLabel TRect

pd- setData s _no

while deskTop- execView pd
pd- getData s _no

strcpy f name s no

strcat f _name " _scr”

if fp=fopen f name " r”

messageBox "

sno 0 = \0

continue

pShowWindow- showFile f_name
sno 0 = 0

pd- setData s_no

destroy pd

pShowWindow- close

void TChemApp ShowHelp void

ifstreamifs
ifs.open "
if i1fs._good

\score\\chem.hlp"

messageBox " iy
return

TDialog*pd=new TDialog TRect

13 4 7
4 6 14 8 "0 . "
4 9 14 11 " D . "

1 2 18 3 ! " b

==cmOK

==NULL

" mfOKButton

1024 1

ios in

mfError mfOKButton

n n

1 1 77 22

pShowWindow=new TShowWindow TRect 0 0 77 21 "

wnNoNumber

pShowWindow- flags=0



pShowWindow- showFile "  \score\\chem.hlp” 3000
pd- insert pShowWindow

deskTop- execView pd

destroy pd int TChemApp CheckPass void

char pass 11 =" (0"

TDialog*pd=new TDialog TRect 15 5 50 15 "
pd- insert newTButton TRect 20 2 30 4 "0

cmOK bfDefault

pd- insert newTButton TRect 20 6 30 8 " C

cmCancel bfNormal

pd- insert new TStaticText TRect 2 3 17 4
pd- insert newTPasslnputLine TRect 5 5 17 6
pd- setData pass

if deskTop- execView pd ==cmCancel

destroy pd
return0

pd- getData pass
destroy pd
if strcmp pass PASS

messageBox "  n\n mfOKButton
return0

returnl

voidDeleteAllScore void

structffblkfb

intdone.

charbuf 80 =" \score\\”

done=findfirst " \score\\*.scr” ¢&fb O

while done

remove strcat buf fb.ff _name
strcpy buf " \score\\”

done findnext &fb

voidTChemApp handleEvent TEvent event

TApplication handleEvent event

n

10



if event.what==evCommand
switch event.message.command

case cmlnName
if inputBox " "o "
snho 0 == 0
break
flags 0 =1
break
case cminputl
newDialog 1 "
break
case cmlnput2
newDialog 2 " "
break
case cmlnput3
newDialog 3 " "
break
case cmMySave
clearFlags
break
case cmDraw
mydraw
break
case cmAnswer
char buf 128

sprintf buf " ---——--—-  -—-

a= .3flb= 3f/n k=€
EA= .2f" a b k EA
messageBoxRect TRect 20 5 60 15
break
casecmCheck
if CheckPass
break
myCheck
break
casecmDeleteAll
if CheckPass
break
DeleteAllScore
break
casecmAbout
messageBoxRect TRect 15 5 65 16

s no 7 ==cmCancelll

mFOKButton

mFOKButton

buf



n
TurboVisionforC++ n
BorlandC 3.1 ”
break
casecmHelp
ShowHelp
break
default

return
clearEvent event \\cleareventafterhandling
if flags 1 ¢&&flags[2]&&flags[3]&& flags[5]

enableCommands Win Command2
flags 5 =1

else if flags 1 ¢&&flags[2]&&flags[3] &&flags[5]

disableCommands WinCommand?2
flags 5 =0

if flags 0 && flags[4]

enableCommands WinCommandl
flags 4 =1

else if flags 0 ¢&&flags[4]
disableCommands WinCommandl

flags 4 =0
TMenuBar*TChemApp initMenuBar TRectr

r.b.y=r.a.y 1
return new TMenuBar r
*newTSubMenu " 1 . " kbAltl
*newTMenultem " N . " cminName

k bAIt N hcNoContext " Alt n"
*newTMenultem " 1 . " cmlnputl

kbAltl hcNoContext " Alt 1"

*newTMenultem " 2 . " cmlnput?2

kbAlt2 hcNoContext " Alt 2" +
*new TMenultem " 3 . " cmlnput3



*newTMenultem " S
" pon

*new TMenultem " Q
Alt X"

*newTSubMenu " R

*newTMenultem " D

*newTMenultem " A
" AlIt AT+
*newTSubMenu " T
*new TMenultem " C
hcNoContext " Alt C"
*newTMenultem " D
hoNoContext " Alt D"
*newTSubMenu " H .
*new TMenultem " A
" Egn
*new TMenultem " U

void TChemApp
TView *b

int len strlen d.text
b newTInputLine TRect d.x

kbAIt3 hcNoContext " Alt 3"
" cmMySave kbF2 hcNoContext

" cmQuit KkbAItX hcNoContext "

" kbAItR +
" cmDraw kbF3 hcNoContext " F3
" cmAnswer KkbAItA hcNoContext

" kbAItT
" cmCheck kbAItC
" cmDeleteAll kbAItD

" kbAItH
" cmAbout kbF4 hcNoContext

" cmHelp kbF1 hcNoContext " F1

Insert TDialog*pd HDatad

2

len d.y d.x len 15 d.y 1

TRect d.x d.y d.x+tlen-1 d.y 1

int TChemApp GetData float*desl float*desl char text 15

15
pd insert b
pd insert new TLabel
d.text b
intnum *
int i
for 1=0 § num 1
desl 1/2 =atof text
intnum *
for 1=1 1 num i+=2
des2 /2 atof text
intnum *
for 1 0 1 num/2—1
if desl i desl
intnum *

return O

loat*desl char text 15
i oat*desl char text 15
1 |l des?[i] des2[i 1] 15



returnl
int TChem App newDialog intflag char*text

int error
TDialog*pd=newTDialog TRect 10 1 70 20 " "
if pd
TView *b
int i
b new TStaticText TRect 20 1 50 2 text
pd- insert b
for 1=0 1 2 1
pd insert new TStaticText TRect 12 1*32 6
13+1*32+strlen hint3 flag*2+j-2 7 hint3 flag*2+i-2
it flag 3
Insert pd hint2 flag—1
else pd insert newTStaticText TRect 10 4 30 5
text

for 1=0 1 flag== 8 6 i

Insert pd hint i

pd insert newTButton TRect 15 16 25 18 "0
cmOK

bfNormal

pd- insert new TButton TRect 28 16 38 18 " C

cmCancel bfNormal

pd- selectNext False

for 1=0 1 8 1++

strcpy plnData- Data i "0
pd setData plnData

ushort control=deskTop- execView pd
pd makeFirst

if control =cmCancel

pd- getData plnData
switch flag

case 1

c_s208 atof plnData- Data O

error=CetData ia 1ij é&plnData- Data 1 6
break

case 2

c_ia=atof plnData- Data O

error GetData s208 sj ¢&plnData- Data 1 6



break
case 3
error=GetData T K plnData- Data 8
break

return 1

destroy pd
it error

messageBox " " mfOKButton
return 0

flags flag =1
if flags 1 &&flags 2 &&flags[3] OKButton

cal_data
save_score

return 1

void TChemApp cal intnum float*x float*y float*a float*b
y=a*x b*/

float x_sum=0 x2_sum=0
inti
for 1=0 1 num 1I++

X_sum+=x i
x2_sum+=x 1 *X[i]

*a=0
*b=0

for 1=0 i1 num i

*b+zy 1 * x2_sum—X[i]*x_sum
*at=y 1 * x_sum—num*x[1]

*a/=  X_sSum*X_sum—num*x2_sum
*h/ NUM*X2_Sum—x_sum*x_sum

voidTChemApp cal _data void /* */



inti
for 1 0 1 3 1

Igso 1 =logl0 s208[1]/260.0
lgsj 1 =logl0 1.0/1300/sj[i]
Igia i logl0 1a[1]/260

Igij i =logl0 1.0/1300/ij[i]

cal 3 Igso Igsj &a &tmpl
cal 3 Igia Igij &b &tmp2
doubletpl tp2

tpl pow 13 0 a

tp2=pow 26 0 b

for 1=0 1 4 1i++

Igk 1 =logl0 tpl*tp2/K[i1]/130
Tt i 1.0/ T[i] 273.2

cal 4 Tt Igk &EA &tmp3

kEa EA

EA=EA* —2.3 *8.314

k pow 10 tmpl—b*logl0 c_ia

k= k+pow 10 tmp2-a*log*10 c_s208 /2
void TChemApp init g void /* */

int gdriver=DETECT gmode errorcode
errorcode=registerbgidriver EGAVGA driver
if errorcode O

printf " Graphicserror. s\n" grapherrormsg errorcode
printf " Press any key to halt "

getch

exit 1

initgraph &gdriver &gmode " "
errorcode=graphresult
if errorcode groK

printf " Graphics error s\n”" grapherrormsg errorcode
printf " Press any key to halt”

getch

exit 1



POINT TChemApp trans intcx 1intcy POINTpoint
POINT pt

pt x=point.x*DX cx

pt y=cy—point.y*DY

return pt

void TChemApp sp XYPxp intnum float*x float*y
/* Xy */

POINT pt
inti

setcolor LIGHTGREEN
for 1=0 i1 num i

pt.x=x[1]

pt.y=y[i]

pt=trans xp.cx Xxp.cy pt

line pt x—3 pt.y pt.x 3 pt.y
line pt.x pt.y—3 pt.x pt.y 3

setcolor WHITE
void TChemApp dline XYPct floata floatb

POINT pl p2

P1.x=ct.X1

p2.X=ct.x2

pl.y a*pl.x b

p2.y a*p2.x b

pl trans ct.cx ct.cy pl
p2 trans ct.cx ct cy p2
line pl.x pl.y p2.x p2.y

void TChemApp darrow intflag
int x y
X=getx

x=gety
if flag



lineto X—7 y—2
lineto x—5 y—1
lineto x vy
lineto x—7 y 2
lineto x—5 vy 1
lineto x vy

else

lineto x—2 y 7
lineto x—1 y 5

lineto x vy
lineto x 2 y 7
lineto x 1 y 5
lineto x vy

void TChemApp draw x y XYPpl /*

POINT pt= 0 0
char str[5]
int i

moveto pl.cx pl.xI*DX—5 pl.cy
lineto pl.cx pl.x2*DX—5 pl.cy
darrow 1

for i=pl.xl 1 pl.x2 i++

pt.x=i

pt.y=0

pt trans pl.cx pl.cy pt
line pt.x pt.y pt.x pt.y—3
itoa 1 str 10

outtextxy pt.x pt.y 3 str

moveto pl.cx pl.cy—pl.yl*DY
lineto pl.cx pl.cy—pl.y2*DY
darrow O

for i=pl.yl 1 i pl.y2 i

if i
continue
pt.x O

*/



pt.y=1

pt=trans pl.cx pl.cy pt

line pt.x pt.y pt.x 3 pt.y
itoa 1 str 10

outtextxy pt.x—20 pt.y str

void gtext int x inty char*str

gotoxy Xx y
printf " s"  str

void TChemApp mydraw void
/* /*

XYPpl= 100 200 -2 3 -7 3 p2= 270 200 -2 3 -7 3
XYP p3 420 200 -1 5 -7 3

float T_tmp[4]

int i

char str[30]

if flags[1]&&flags[2]&&flags[3]

messageBox " " mfInformation
return

suspend

init g

draw_ x y pl

sp pl 3 Igso Igsj

dline pl a tmpl

sprintf str " K a = 4.2f" a
gtext 5 22 str

draw_x y p2

sp p2 3 Igia Igij

dline p2 b tmp2

sprintf str " K b = 4.2 b
gtext 25 22 str

draw x y p3

outtextxy 550 200 " *10"

outtextxy 568 193 " —3"

for 1=0 1 4 1

T tmp[1] Tt[1]*1000
pS.x1+=2

sp p3 4 T_tmp Igk



dline p3 kEa/1000 tmp3
sprintf str " K= 6 2f"
gtext 48 22 str

sprintf str " EA= 6.2f"
gtext 48 23 str

gtext 22 24 "

getch

closegraph

resume

redraw

void TChemApp save score void

int i j=0

char f_name[20]

ofstream os

char buf[1024]

Jt=sprintf buf " s n"
J s=sprintf buf j " 1.

C_s208

b

for 1=0 1 3 1

J =sprintf buf j "
n" ia[i] ij[i]

Jt=sprintf buf j " 2.

for 1 0 1 3 1

J =sprintf buf j "

.3f n" s208[1] sj[i]

kEa

EA

Jt=sprintf buf j " a= .3fb= .3f k=

k

Jt=sprintf buf+j " 3.

for 1=0 1 4 1

Jt=sprintf buf j " .2f

n"  TLi]l KLil

J =sprintf buf j " EA=
strcpy f name s _no

strcat f name " .scr”

os.open T _name 10s out

if 0s.good

messageBox " "
return

i=0
while 1 J
0s buf[1]"KEY

\n"

2" EA

mFOKButton

.3f



/* */
int main

TChemApp chemApp
chemApp.run

return0
13
1.
H
Zn CuS0,-2nSO, Cu
H=- TCVp /n
T K ¢ [k kg- K "] vV  Cuso4
L p kg- L't n Vv CusS04
mol
2.
1
2
3.
1 39
2 250mL 0.2mol- L™'Cuso,
3 50mL CusSo4
3 1
4 30s 2min

30s



N

HAC

MnS

MnS

NaAc
HA

A

pH

2min

2 T T
H
4.18kJ kg- K ! 1kg- L
14
HAc==H"+Ac”
MnS Mn?*
H,S MnS Mn2*
H+
g2
pH
pH
HAC
NaA
A H
A +H"==HA
HA



OH™ pH
HA+OH™ ==A"+H,0

H+
o(H") _ o SHA)
c® 2 c(A7)
c A HA NaA A HA
A NaA A
c A = =C
HA NaA A
c HA = =C
o(H) _ o o)
c? o )
c( )
H=pK? +lg=—
p p gc( )

pH

0.1mol- L HAC

0.1mol- L"NaAc 0.01mol- L"'HAc  0.01mol- L™'NaAc

1 1
3-3 c /c 11 pH
pH
c( )
H=pK? +lg—
pH =p gc()
c( )
=1 pH=pK?
pH pK? 11
1 1
pK,®
pr(p pH
3-3 1L 0.20mol- L ‘*HAc-NaAc

C /c



c c pH 0.01] pH
mol |_‘1 mol |_'1 /c pH 0.01molHCI mo INaOH
pH pH pH pH
0.10 0.10 1 1 4.75 4.66 -0.09 4.84 +0.09
0.18 0.02 1 9 3.80 3.46 -0.34 4.00 +0.20
0.02 0.18 9 1 5.70 5.50 -0.20 6.04 +0.34
pH=pK,? + 1
pOH=pr“’i 1
HAC pKa‘p 4.76 HAC  NaAc pH 3.76
5.76 pH=4.76
¢ HAc /c NaAc =1
3
pH pKa(p
pH
pH
Mg?*
Mg2+ + HPOi‘ +NH,; -MgNH,PO, |
Mg OH , pH
3
NH,CI NaAc
NH,Ac
1
NaA
A"+H,0==HA+OH"
A
c(HA)/c® c(OH ) /c?
k¥ (A= KHAY ¢ c(OH")
c(A)/c?
K A A" A A" HA



K® A" K? HA =K?

w
¢

K? (A)—m-Kﬁp
K,®
h
c
A+ HO == HA + OH
c 0 0
c 1-h c h ¢ h
Gp = L
c® (1- h)
1-h= 1
K = ¢ h ?/c®
[ f
c( )/c® K?® (HA)C( )/c®
h ¢ K® HA
c H
c(OH ) =c( )h
c(H") _ Ko _ Ky K? (HA)
c® ¢ )h/ce _\/ o )ic®
pH:%pKV‘Vp +1pK“’(HA)+%Igc( )/ c?
K, h pH
K? K?
Ky = ¢ " h:/ ¢ " ®
K® (BOH) \K® (BOH)c()/ ¢
_1 ¢ 1 P 1 ?
pH—EpKW -EpK BOH -Elgc /c

B*+H,0==BOH+H"
A"+H,0==HA+OH"

H* OH"
H*+OH™ ==H,0
1 2 3
B*+A ™ +H,0==BOH+HA
o _{c(BOH)/c®}{c(HA)/c®} _ K¢

" {e(BY)/c® Hc(A ) /c®Y  K® (HA)K® (BOH)



3
K? HA K®  BOH c H c OH

K? HA K® BOH

K* HA =K® BOH
c H 1 2 3 3

_{c(B+)/c® }{c(OH™ ) /c®}

¢
K® (BOH) = BOH) / c* (3- 3)
<o (= A c0 HoH) Top)
c(HA)/C*®
3 6 c H 3
c H +c B" =c OH +c A 3-6
=c A" +c HA 3-7
=c B" +c BOH 3-8
3-3 3-8 6 c H
c
c H c OH c HA
c BOH
c HA =c BOH 3-9
3-7 3-8
c A =c B' 3-10
B++A‘+H20E=EBOH+HA
{c(BOH) /c? }{c(HA) /c®} _ Ky
{c(B*)/c® Hc(A )/c®}  K? (HAK? (BOH)
3-9 3-10
{o(HA) /¢ }? _ K¢ (3- 11)
{c(A)c®}?2 ~ K® (HA)K® (BOH)
3-4 3-11
{c(H) /c®}{c(A)/c*} _ K

{K® (HAM{ (A )/c®}2  K® (HA)K® (BOH)
co(H")  |KgK® (HA)
c? _\f K® (BOH)

A+ B*+H20== HA + BOH

Il



c -C h c -C h c h c h
{c(_ )h/c®Hc( )h/c®}  _ K
o )-c( )h c( )-c )h ~K?(HAK® (BOH)
{ e H 0 }
h K¢
1- h~ \[K® (HA)K® (BOH)
h
2.
1
2
3
4
3.
1
pH HCl HAc
NaOH  NHy- H,0
2
0.1mol- L™'HAc  NH;- H,0 NaAc NH,CI
3
1 0.2mol- L"*HAc  0.2mol- L"!NaAc  25mL 50mL
pH
50mL A 1mLO0.01mol- L™*HCI
B 1mL0.01mol- L™*NaOH pH
A B 10mL pH
3-4
pH
0.2mol - L™ HAc  0.2mol - L~ INaAc
A 1nL0.01mol - L™ tHel
B 1nL0.01mol - L™ NaoH
A B 10mL

2 0.2mol- L"*HAc  0.2mol- L™ !NaAc  25mL 50mL



50mL imol- L™tHCI
1.5mL imol- L *NaOH 1.5mL
pH
pH
0.2m0l - L™ HAc  0.2mol - L ‘NaAc
ol - "ol 1.5mL

1mol - L_lNaOH

1.5mL

3
0.1mol- L™'NHs;- H,0  0.1mol- L *NH,CI pH 9 NH;- H,0-
NH,CI 10mL Fe3*  Mg?
4
1 pH pH
0.1mol- L"'NaAc NH,CI NaCl NaHSO,NaH,P0, Na,HPO, pH
pH
2 In ZnCl,
3 FeCl,
4 0.5mol- L 'NaAc 4mL 2
5 BiCl,
pH 6mol- L tHCI
4.
1 100mL23mol- L™* 3mL15mol- L~
NH,;- H,0 pH
2 Na,CO, AICI,
3 BiCl; FeCl; SnCl,
4 pH
9  NaOH NH,- H,0-NH,CI Fe**  Mg?*
5
6

15



Pt Hg |1 Hg,Cl, s |KCI aq

KCI 25 j ® Hg,Cl,/Hg =0.2438V
Zn|ZnSO, c | |KCI |Hg,Cl, Hg Pt
E j2 zn

—i 9 o2+
E =] Vgyapitg ) zmizm

J 20 =1 g - E=02438- E

zn2* i zn
4
1
Me" +ne==Me
[Ox] [Red]
[Ox] [Red]
2
2H +2e==H,
3 Ox+ne==Red
Fe’*+e==Fe**
c(Ox)
c(Red)
4
. m
Ox+mH" +ne= Red +EH20
MnQO;, +8H" +5e= Mn* +4H.,0
imol- L™
2

5H,C,0,+2MNn0™,+6H" ===2}n?*+10C0,+8H,0

Mn2* Mn2*
MnZ* MnZ*

Mn?*



F Mn2*

MnO™,+5Fe?*+8H"=Mn?*+5Fe®*+4H,0

2Mn0™,+10C 1" +16H*=2Mn**+5C1,+8H,0 2
2 1
2

2.

1

2
3.

1 Zn**/Zn
1 Zn*/Zn

0.01mol- L™Zns0,
3-3 Znso,
2
3-3 Zn**/Zn KCI
Zn**/Zn “og “ o
Zn|Znso, 0.01mol- L™t I KCI |Hg,Cl, Hg Pt +
3
4
0.01mol- L *znSo,
Nernst J ;an+/zn

2

1 3-4 25mL0. 1mol- L™*Cuso,

25mL0. 1mol- L™'ZnS0,

2 Cuso,

Cu,
3 ZnS0,
6mol- L™*NH;- H,0

Cuso,  Znso,

1] +H 1] _H
6mol- L™!NH;- H,0

OH ,S0,



25mL0.2mol- L"'FeS0,  0.2mol- L~
K,Cr,0, Feso, K,Cr,0,
K,Cr,0, imol- L™*H,S0,
K,Cr,0, 6mol- L™ NaOH
*
2mL0.2mol- L™*FeS0,  0.2mol- L™*K,Cr,0,
Feso, K,Cr,0,
KCI
K,Cr,0, imol- L'H,S0,
K,Cr,0, 6mol- L™ NaOH
4
1 5 0.1mol- L7XKI 0.1mol- L 'FeCl,
5 ccl, ccl,
0.1mol- L™K;[Fe CN ]
0.1mol- L'KBr 0.1mol- L7*KI
2 0.1mol- L 'FeCl,
3 0.5mL0.2mol- L™ NH, ,Fe SO, ,
0.1mol- L *AgNO,
10
NH,SCN
4 5 0.lmol- L'NH,Fe SO, , 5 0.1mol- L7*KI
ccl, ccl,
5 0.1mol- L™NH,Fe SO, , 5  2mol- L™'NH,F
5 0.1mol- L7KI ccl, ccl,
5 5 0.1mol- L7KI 1 0.1mol- LK,Cr,0,
2mol- L™*H,S0,
6 10 2mol- L™'H,C,0, imol- L~
'H,50, 3 0.1mol- L 'MnSO,
3 2 0.01mol- L™'KMnO,



2 Br,/2Br~ 1,/21" Fe¥/Fe*3

16

BA
BA s ==B" ag +A" aq

K;’;, BA = ¢ B" /c* c A /c°
Ksp? BA B* A
Ksp‘p
B* A
BA

1 {c B" /c®Hc A /c®} {K,® BA }
2 {c B" /c®Hc A /c®F{K,,® BA }
3 {c B" /c®Hc A /c®} {K,* BA }

BA B" A c B*
/c? c A /c? {Ksp? BA BA

BA s ==B" aq +A" aq

BA KNO; BA
3-5
B A,
B,A, s ==xB" ag +yA" aq
K’ BA, = ¢ B /¢ X ¢ A /c® Y

¢ 107°mol- L?!



cu® Zn** c cu* =¢ zn*

=0.1mol- L™ H,S s cu®*
Zn?* CuS  ZnS
s*
CuS  Kg,® 6.3x 107 cu* s>

c S /c%=6.3x 107%¢/10°°
c S =6.3x 1073'mol- L
ns  Kg,®  1.6x 107 zn* s>
e S /c®=-1.6x 107%*/0.1
¢ S =1.6x 10%mol- L*

Cu2+ Zn2+ SZ-
6.3x 103mol- L' ¢ S$* = 1.6x 10%mol- L™

3

Zn?* H,S Zn?*
Ccu?* ZnS  CuS

1

2

3

Paneth-Fajans-Hahn BaCl, Ba NO; ,

BaSO, Ba NO; , BaSO,

3-4



HgS Cus Cds
CuS CdS ZnS FeS
cds ZnS
Zns MnS CoS NiS FeS
Fe OH 2 Cu OH 5
Cr OH 3 Zn  OH 2 MR  OH 2
SiOz- nHZO Al OH 3" Fe OH 3
BaSO4 CaSU4 KZSO4 Ca NO3 2 BS NO3 2
Al OH 3 AI2 804 3
4
3
1
Mg OH ,+2H"==MNg®"+2H,0
ZnS+2H" =Zn?*+H,S

Mg OH ,+2NH",==Mg**+2NH;- H,0
AgCI+2NH;- H,0==[Ag NH; ,]"+C1™+2H,0

4
Kep?
Mg (OH),==Mg**+20H +2H" ==2H,0
c OH- /c° H,0
{c Mg /c® {c OH /c® % K,,® Mg OH ,
Mg OH ,
2
cus HNO,
3CuS+8H"+2N0",=3Cu?*+3S1 +2NOt1 +4H,0
s S s
3
BaSo,
BaSO, Na,CO,
BaCo, BaCo,
c Ba® /c® ¢ CO*; /c®  Ky,® BaCOs
Baso, Ba?*

Ks (BaSO,)
c(SO7 )/ c?
Bas0, BaCO,

c(Ba*)/c® =



Ky (BaSO,)

K2 (BaCO,)

c(SO7)/c®  (COi)/c?
c(CO%)/c®  Kg (BaCO;)
c(SO7 ) /c® K$ (BaSO,)
c(COZ)/c®  51x 10°
> — =464
c(SO; )/c®  11x 10
BasSO, BaCO, co? So?
46.4 BaSO, SO
CO?% SO c CO?
SO =464
Na,CO,4 BaS0,
BaCO; BaCO,
2.
1
2
3
3.
1
1 5 0.002mol- L™*Na,S0, 5 0.0imol- L *caCl,
5 0.002mol- L *Na,S0, 5 0.0lmol- L™*BaCl,
2 5 0.1mol- L™*NaCl 2 0.1mol- L™*K,Cro,
0.1mol- L *AgNO,
3 5 0.1mol - L™*NaCl

0.1mol- L *AgNO,
0.1mol- L™'Na,S

1 0.1mol- L™'AgNO, 5
0.1mol- L™*NaCl
2mol- L™!NHz- H,0

/c



2 1 3 6mol- L HNO,

3 10  0.1mol- L *Na,CO,
0.1mol- L7*K,Cro, 10  0.1mol- L'BaCl,
BaCO; BaCrO,

2mol- L™*HAc  2mol- L™*HCI

[Cu NHy ,]SO,

3
Zn**  cu®*
4.
1 BaSO, BaCO; BaCO, BaS0,
Agl AgCl
2
3 Caso, 29/L
NH, ,C,0, 0.0248g/L cac,0,
17
1.
1
NHy ,1S0, 4

F CIl Br 1 0O S NGO C

FFcl” Br I
H,0 ONO C,0%,
NH; NCS -NO,
CO CN

SCN™  S,0%7,

[Cu



1 K[PtCINH,]
2
[Co NH; 4H,0]CI,

NH,

Cu®*+4NH; - [Cu  NH
3
Fe?*+6CN" = [Fe CN
Ni?*+6NH; - [Ni  NH
3

3+, 4
Fe*+6F - [FeFs]*

AgCl

J7

6l

2
6™

Cu Mn Cr

3+

S
+2NHy » [Ag NH; JEH+CI

Agl s +25,0*
$,073~[Ag S;0; 1°+I°

AgCN

s +CN'-[Ag C
v T
Bil, .

s +1"-[Bil, -



AgNO, [Ag NH; ,INO;
KCl AgCI KBr KI
AgBr Agl
[Ag NH; ,]INO;
Ag* Ag’
AgBr Agl AgCl
[Ag NH; >INO;
[Ag NH; ,INO;—[Ag NH; ,]"+NOT,
[Ag NH; ] ==Ag"+2NH, 2
1 2

_{c(Ag")/c?}- {c(NH;)/c?}*

d Ag(NH;),]/c*
K K

)

K(P

[Ag NH; ,1'==[Ag NH; ]"+NH,
o _{C(AGNH})/c®}- {c(NH,)/c?}
o c([ Ag(NH,),]")/ c?
[Ag(NH,)]" = Ag™ + NH,
_{c(Ag*)/c®} {c(NH,)/c®}

?

’ C([Ag(NH,)I") / c*
Kl K2
K? =K Ky
K(P
Ag*+2NH;==[Ag NH; ,]1°
v - CTAINHL) 17 I c*
{c(Ag")/c? H{c(NH,) /c? }*
K K K B
Bi B
B=B.B,
EDTA ethylene diamine
tetraace ticacid H,Y
EDTA- 2Na EDTA
n
6 2 4



3-6

|
5
M™ L ML, "
n
ML{™ ™ = M ™ + nL
MM L
M™ L
|
2.
1
2
3
3.
1
1 5 0.1mol- L'Cu NO; ,
0.1mol- L™*NaOH 2mol- L~
INH,- H,0 0.1mol- L *NaOH
2 5 0.5mol-L"*Na,S,0, 2 0.1mol- L™*AgNO,
2 0.1mol- L *NaCl
2 0.1mol- L*AgNO, 2  0.1mol- L™*NaCl
3 0.1mol- L'Fe NO, ,
2mol- L™NH,F 0.1mol- LI ccl,
4 0.1mol- L7!Ni NO; , 0.1mol- L™'EDTA
0.1mol- L *NaOH Ni OH ,
2
10  0.5mol- L''Fe, SO, , émol- L™*HCI
2 0.1mol- L"*NH,SCN
2mol- L™NH,F NH, ,C,0,



1 5 0.1mol- L™*AgNO, 5 0.1mol- L™*NaCl

2mol- L™'NH;- H,0

0.1mol- L™*NaCl 0.1mol- L™*KBr
AgBr AgBr
0.5mol- L™Na,S,0,
0.1mol- L7KBr AgBr 0.1mol- L~
K1
AgCl  AgBr Agl  K,* [Ag NH; 1" [Ag
S05 1%
2 2 0.imol- L'Fe, SO, , 8 NH, ,C,0,
0.1mol- L *NH,SCN
6mol- L HCI
3 5 0.imol- L''Fe NO; , 0.1mol- L™*NH,SCN
0.1mol- L'EDTA
4.
1 [Ag NH; L] Ag’
2
1 Fe* +1°

2 Fe** + NH, ,C,0,  +I”



3 K* Na* Mg* Ca?* Ba*

250ml

5 0.1mol- L'MgCl, 0.1mol- L*CaCl, 0.imol- L'BaCl,

2mol- L™*NaOH
2mol- L™'NHH- H,0. 2mol- L™*NaOH

10 0.1mol- L *MgCI, iml 2mol- L_;NH,- H,0

3 2mol-  L7'HCI  2mol- L™*NaOH
NH,CI



Na*
1 8
Na* 12
%
Nas[CO NO, | K,Na CO NO, ]
1—2
K,Na CO NO,
6 K+
2 Ba*
3 5 0.1mol- L' MgCl, 0.1mol- L"'caCl,
0. imol- L7*BaCl, 5 0.1mol- L 'Na,SO,
2mol- L™*HNO, Ba?* S0,%
Baso, Ba*
3
3 5  0.lmol- L™* MgCl, 0.1mol- L™*CaCl,
0.1mol- L™'BaCl, 5 0.1mol- L 'Na,CO,
2mol- L™'HAc  2mol- L7*HCI
3 3 0.lmol- L* mgCl, 0.imol- L 'caCl,
0.1mol- L 'BaCl, 1 2mol- L°!NH;- H,0 2mol- L™'NH,CI
2 0.5mol- L™ NH, ,CO,
4 ca®*
3 3 0.lmol- L' MgCl, cCaCl, BaCl,
3 NH, ,C,0, caC,0, Ca?*
Ca?* 2mol- L™'HAc  HCI
5
3 0.1lmol- L''MgCl, cCaCl, BaCl, 0.1imol- L
K,cro, 2mol-  L™'HAc  HCI
6 Mg NH, PO, Mg?*
3 0.1mol- L *MgCl, 1 2mol- L7'HCI 3
0.2mol- L™*Na,HPO, 2mol- L™'NH;- H,0 Mg NH, PO,
Mgz"
5
2mol .L™*HCI

HCI
0.5mol.L *KCI



Na* K* NH', Mg®* Ca?* Ba*

10
1 ca®* Ba*
ca’* Ba*
2 NH,
3 NH', Na; Co NO, ] K*
0.5mL imL6 mol-  L™HCI
K+
3.
1
2
Mg2+ C82+ Bza2+
0.1mol - L_lNaZCO3
0.1mol - L7'K,Cro,
0.4mol - L 'Na,s0,
3
4 Na; Co NO,
5 NH, ,CO, Ba’"
19 p
1.
1 p
2 p
3
4 AI®* sn?* Bi®* pp**
2.
1
10  0.1mol- L7*AICI, 2mol- L' NaOH Al OH ,
3 2mol-  L~!NaOH

6mol- L' NaOH 2 mol- L™* HCI



0.imol- L7'snCl, SnCl, Pb NO; , ShCl; BiCl,

AICI, Pb OH
2mol- L™HCI
2
1 Al 0
5 0.5mol- L"'NaNO, 5 40 NaOH
pH NH,
2 Sn 0 Sh
1 0.1mol- L7'shCl,
3 Sn Bi Bi**  Sn* Hg?*
5 0.1mol- L*sncCl, 2 0.1mol- L7'BiCl,
2mol- L *NaOH
3 0.lmol- L 'HgCI, 0.1mol- L7*snCl,
SnCl,
4 Pb
1 Mn* imL 6 mol-  L™tHNO, PbO,
5 Bi
1 Mn? 10 6mol- L7'HNO, NaBiO,
3
1 5 0.imol- LT*AICI, 0.5mol- L™*Na,S
HCI
mol- L *Na,S
0.imol- L™'snCl, SnCl, ShCl, AICI,
2 5 0.imol- L'pb NO, ,
mol- L'Na,S
6mol- L7'HNO, 0.5 mol- L™'Na,S 0.1mol- L'BiCl,
NO;
4
1 PbCl,
5 0.imol- L"'Pb NO, , 2mol- L™tHCI
HCI
2 PbSO,
3 3  0.imol- L''Pb NO, , 3

0.1mol- L™K,S0,
6mol- L™*NaOH NH,Ac



3 PbCro, Pb*

3  0.1mol- L7'Pb NO; , K,Cro, PbCrO,
Pbh?* émol- L *NaOH
6mol- L *HAc
Ph?*
0.1mol- L™*Pb NO, , K,Cro, PbCro,
6mol- L HNO, NH,Ac
5 A%
2 0.1mol- LT*AICI, 3 6mol- L™'HAC 0.1
A%
AP
3.
1 P
2 p
3 SnS sSnS, Sh,S; PbS Bi,S,
4 sn®t  pp?t A BI¥
5 Sn Pb Sn Pb
6 Pb NO; , HCI PhC, HCI
PbCl,
20
1.
1 H,0,
2
3
4
2.
1 NH*,
1 10 0.1mol- L°*NH,CI 10 2mol- L™*NaOH
NH, NH,*
2 2 0.1mol- L™*NH,CI 2 2mol- L"!NaOH 2

Nessler K,[Hgl,] KOH



NH,*

|
2
1 H,0, Na,0,
10 3 H,0, pH 5 40  NaOH
Na,0,- 8H,0 Na,0,- 8H,0
2 H,0,
5 0.lmol- L''Pb NO; , 5 0.imol- L™'Na,S
HZOZ
5  0.1mol- L *AgNO, 5 2mol- L *NaOH
H202
10 3 H0, 1 0.1mol- L™mnsO,

2mol- L™*NaOH

3
1 H,S

5 0.1mol- L"*NaS 5

Pb Ac ,
2 H,S

5 0.imol- L''Na,S 5

imol- L™'H,S0,
3
4

Hg NO;

3 HCI

HCI

HNO,

s0%,

2 HNO,

10 0.1mol-

imol- L™'H,SO,

6mol- L™HCI

0.1mol- L *Na,S0,

5 0.1mol- L™*  ZnSO, CdSO, CuSO,
5 0.imol- L'Na,S
6mol- L™*HCI 6mol- L *HNO, 1
HCI
2 3

s0%7,

imL  HNO,
AgNO;  Pb NO; , NaNO,

L™*NaNo, 5  0.1mol- L7kl



imol- L™*H,S0,

0.1mol- L *KMnO, KI

3 H,S0,
10  0.1mol- L™'Na,SO, 0.1mol- L7*KMnO, 1mol- L"*H,S0,
H,S0, 3 2
4 H,S,0,
S,0°7,
5 0.1mol- L *Na,S,0,
5,07, S,0%,
10  0.1mol- L 'Na,S,0, Imol- L7*HCI
S,07,
5 0.1mol- L™'AgNO, 3 0.1mol- L™'Na,S,0,
Ag,S,03
Ag,S,0; H,0-H,S0, Ag,S!
5,04,
5 0.1mol- L 'AgNO, 0.1mol- L 'Na,S,0,
5
1 0.1mol- L™*MnSO, 2nLimol-  L7'H,S0, 1  AgNO,
K,S,05 MnO™,
Mn2+
* 5 NO, NO,
1 NO7,
1 0.1mol- L *NaNo, 6 mol- L™ HAC
1 1 a- NO™,
NO™, NO™,
|
2 NO,
1 0.1mol- L *NaNO, 1 Feso,

1 FeSO,

NO;



NO;, 3Fe* 4H"-NOr 3Fe* 2H,0
NO FeSO,-[Fe NO ]SO,

N0, HAC
NO", Fe?* 2HAc-NOT  Fe** 2ACT H,0
NO FeSO,—[Fe NO 150,

NO™, CO NH, , NO™,
2NO",+CO NH, ,+2H" - CO,t +2N,t +3H,0
NO™,
imol-  L™'H,S0, 2 H,S0,
2min 5min NO™,
NO™,

6 $ SO S,0%

*1 §¥
1 Na,[Fe CN
sNO]J s% 13
*2 SO
3 0.1mol- L™'Na,SO, 2 mol-  L7*HCI
0.1mol- L' BaCl, 3 H,0,
so?
3 S,02
4
.
1
3 10  0.1mol- L' NasP0, Na,HPO,  NaH,PO,
pH
2 Ag'
3 10 0.1mol- L *AgNO,
pH AgNO, pH pH
3 ca®
3 5 0.imol- L"'Na;P0, Na,HPO, NaH,PO,
0.1mol- L *CaCl, 3
NHs-  H,0
Imol-  L™HCI

8 PO PO, PO%
1 PO



2 0.1mol- L™'Nagpo, 5 HNO; 10 NH,

,M00, 40 50
PO?
PO, +3NH, 12MoO; 24H'- NH, ,PO,- 12MoO,- 6H,O! 6H,0
( )
HNO,
PO; PR,07
2
*2 POy PO; PR,OY
HsPO, HPO;  Na,COj Na,P,0,
AgNO, Ag,PO, AgPO;  Ag,P,0,
NaPO;  Na,P,0, 2mol- L 'HAc  pH 1 4
HPO, H4P,0;
3.
1 AgNO, Na,S,05 Na,S,05
3
1 S,0 MnO, NO, I,
2 S,07 I
4
5 PO; NH;,SO7 S,07 H,S
6
21
1.
1
2
3 cl Br I



1
ccl,
1 2nL
0.1mol- L7*KI
ccl,
2
0.1mol- L'KBr 0.1mol- L7*KI
ccl,
3
2mol- L' NaOH 2mol- L
H,S0,
2
1 HX
3 NaCl  KBr KI imL
NH,- H,0 KI- Pb Ac ,
2 Br I
0.1mol- L *FeCl, 0.1mol- L7*kBr Kl
Br, I, Brr I”
1 clo
imL 2mol . L™*NaOH
2mol- L™*HCI cl,
0.1mol- L7*KI  2mol- L™*H,S0, 1,
2 Cl0,”
10 KCI0, 3 HCI cl,
3 0.1mol- L7*KI KC10, 1 1H,50,
HCIO;  HIO,
4 Cl Br I
1 cCl
cl
2 0.1mol- L* NaCl 1 2mol- L" HNO; 2
0.1mol- L™! AgNO, mol- L™*

6mol- L™ HNO,

Br- I

Cl”



2 0.1mol-L™'KBr KI 1 2mol- L™ H,S0,
ccl, ccl,

2 CI"” Br I
2 0.1mol- L' NaCl KBr KI

S

AQCl  AgBr Agl NH, ,COs NHs- H,0
5 AGNO,

22 ds

N

1 Ccu*t Ag?t zZn** Cd®** Hg®* Hg,”* NaOH

1 0.1mol- L™* CuS0, AgNO, ZnSO, CdSO, Hg NO; , Hg,
NO, ,10 Zmol- L' NaOH

NaOH  2mol- L!
HCI
2 0.1mol- L'cCuso, znsSo, CdsO, 5

2 Cu2+ Ag+ Zn2+ Cd2+ ng+ H922+

5 0.1mol- L' Cuso, AgNO, ZnSO, CdSO, Hg NO,
, Hg, NO; 6mol- L™!NH;- H,0
NH,- H,0 2 2mol- L™* NaOH

3 Cu®* Ag" Hg* Hg,*t KI
5 0.1mol- L' CuSO, AgNO; Hg NO; , Hg, NO;
0.1mol- L™! Kl



I, KI

4
10  1mol- L*cuCl, 10
3.
1 Cu2+ Ag+ Zn2+ Cd2+ ng+ H922+
cu’* Ag® Zn** Cd* Hg* Hg,*
3 Cu2+ Ag+ Zn2+ Cd2+ ng+ Hg22+ 4
Cu
5 S
6 Cu?* Ag" Hg** Hg,* K1
23
1.
1
2
2.
1
1 Cr OH ,
0.1mol- L™t Cr, SO, , Cr OH , Cr OH ,
Cr OH | 2mol- L' NaOH
2 Cr
0.imol- L™* Cr, SO, , pH 0.5mol- L™ Na,S
Cr,S;
3 Cr
0.1mol- L™'K,Cr,0, pH 0.1mol- L 'AgNO,
pH pH Ag,Cr,0,
Ag,Cro, 6mol- L™ HNO,
4 Cr Cr
5 0.1mol- L*K,Cro, 10 KCI
cl, cl,

3 0.lmol- L*cCr, SO, , 10 3 H,0,



émol- L' NaOH

6mol- L HNO,

2 0.ilmol- L™t Cr, SO, , 5 2mol- L' H,S0,
0.01mol- L™ KMnO, 0.01
mol- L™ KMnO,

5 Cr
3 0.1mol- Lt K,Cr,0, 6mol- L™t HNO,
3 H,0,
2
1 Mn OH ,
0.1mol- L *MnSO, 2mol- L™ NaOH
2 Mn Mn%*
0.1mol- L-1MnSO, Mn OH ,
MnSO, 0.01mol- L™ KMnO,
1 0.1mol- L™*MnsO, 6mol- L™* HNO, NaBiO,
Mn2+
3 Mn
Mno, KCl cl,
H,S0,
Mno, 10 40 NaOH 5 0.0Imol- L' KMnO,
4 Mn
3 0.1mol- L°
! Na,S0;  6mol- L™t H,SO,
5 Mn
0.01mol- L™* KMnO, Na,S0,
3.
1
cr¥t Mn?
Cr OH 5 Mn OH ,
Cr,S;  MnS
2 Mn2*  cr*
3 H.0, Cr* Cr,0%
4 NaBiO, Mn2* Mn0™,



HCI
5  Mn OH ,

24

A~ OB

1 Fe Fe

ImL 2 H,S0,

imL 6mol- L *NaOH

0.5mol- L™* FeCl,

2 Co Co

5 0.1mol- L™*cCoCl,

OH"
Co OH cCI
Co OH ,
5 0.1mol- L™ CoCl,
2mol- L™*NaOH
3 Ni Ni
0.1mol- L™ NiSO, 2mol- L™ NaOH Ni

6H,0

HNO,
K,Cr,0,

6mol- L™ NaOH

2mol- L™ NaOH

OH

H,S0,

NaOH

HCI



2mol- L *NaOH
2
1 0

2 3

NH,F
3 5

17

Ni OH ,

5  0.imol- L' NiSo,

HCI
Jmol.L" K;[Fe CN ] Fe* 2mol- L™* NaOH
0.1mol- L™t FeCl, 2 1mol- L™ NH,CNS
0.1mol- L *CoCl, 2mol- L™ NH;- H,0
Imol- L™* NH,CI 1
0.1mol- L™* CoCl, Imol- L™ NH,CNS 0.5mL
Co**
0.1mol- L™ NiSO, 2 2mol- L''NH;- H,0 2 1
Ni%

1 0.1mol- L' FeCl; 0.1mol- L7* Kl Fe**

2 FeCl, NHA4F KI 1
3 10  0.1mol- L' FesO, 5  2mol- L™ H,S0,
4 Fe** Fe* Co* Ni*
1 Fe*
1 0.1mol- L™ FeSO, 1 Ks[Fe CN ]
2 Fe*
1 0.imol- L™'FeCl, 1 K,(Fe CN ]

3 0.1mol- L™t FeCl, 3 1mol- L™ NH,CNS
3 co* 2 4
4 Ni* 2 5
*
1 10 0.1mol- L™* NH, ,Fe SO, , 0.1mol- L7XKI
1 NH,CNS Fe** 0.1mol- L™

Cuso, NH,CNS Fe¥*



2 0.1mol- L™t KI 0.1mol- L' Fe NO, .

0.1mol- L *Na,S,0, 1 NH,CNS
3 1 0.imol- L'* NH, ,Fe SO, , 1 NH,CNS
1 @ 1 @ ;@ 1 @
2 3 JBrz/Br' J|2/|' JFe3+/F92+ js4o§'/320§'
3.
1 Fe?* Fe** Co* Ni% 2
M OH
3 M OH HCI
4 Co co**
?
5 FeSo,
25
1.
Ph?* HCl  K,Cro,
Pb?*+2C1~ - PbCl,!
Pb?*+Cr0,%” — PbCro,
PbCl,  PhCro4
K, PBCI, =1.6x 107
Kep PbCro, =2.8x 107"
Pb?* HCl PbC,
Ph?* K,Cro, PbCro, PbCro,
Pb?* PbCrO, Ph?*

12
13



NH,* NH,
NH", OH = NHyt +H,0
NH,* NH,*

Ag+ Hg§+ Fe3+ C02+ Ni2+

Hg§+ Ag+ Fe3+ Ni2+ COZ+
Agt Pb** Cu®* Ccr* Ba?
CO¥ soZ PO? I
1988
1964

1992



1.
1 CaCo, Ca0
CaC0;£,Ca0 CO,1
2
PtCl, 2NH,— — [Pt(NH,),Cl,]
3
NaHCO,
NH,HCO; NaCl— —NaHCO; NH,CI
4
K,MNnO,
3Mn0, 6KOH KCl0,——3K,Mn0, KCI 3H,0
5
[PtC1,]1*>" 2NH;— - Pt(NH;),Cl, 2CI°
2.
1
3 1
31
2
Na K
K,MnO, KMno,
1/25 60 K,MnO,
10mA/cm? 250mA/cm? 2.5 3.0V

KMNnO,



MnO? —e— MnO;,

2H,0+2€ — 20H +H, 1

2Fe(C0); - Fe,(C0)+CO

BCl, ¥#%® BCl +Cl,

BC1+0, - BCIO,
BC10,+BCI - 2B0CI
3B0CI  (BOCI),

CO(NH,),NO3*

[Co(NH,)s0NO]**

T

ZnS(s)+1, (g)%ﬁrﬂz (g)+ % S,(g)
1

KO,



2NaHCO, -2+ Na,C,+C0, 1 +H,0

7
1
TR E
BTSN BEEEE
iR
iﬂrﬁ HETE
FhiE i
CTiEERm) el S
iE. AR
{ +
sl siE
( ATt R A (=&
B IR )
2
3
5-1
90
5-2



5-3

3
5-4
Tl
Ni+4CO Ni (C0),+Q
180 200
4
4.
1

Ni (CO),

50 80



26

H,S0,  FeSo,
Fe+H,S0,=FeS0,+H,1
FeSO,  (NH,),SO,
(NH,),S0,- FeS0,- 6H,0

2.
1
2
3
3.
1
29 20mL10 Na,COj 10min
15mL 3mol- L™*H,S0,
H,S0,
Feso,
2
FeSo, Feso, (NH,),S0,=1 0.75
(NH,)2S04 FeSo,
3 Fe*
19 25mL 15mL

2mL3mol- L7'HCI  1mL25 KSCN
25mL



Baso,

NaOH

NaOH

H,S0,

Feso,
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KCl CaCl, Mgso,

BaCl,

Ba** +S0O; =BaSO, |

Na,CO,

2Mg®* +20H " + CO§' = Mg, (OH),CO,!
Ca’* +CO; =CaCO,!
Ba*" + CO; =BaCO,!

Mg** ca®*

Na,CO, HCI
KCI

Ba®*



1 15g 250mL
2 3mL 20  BaCl,
BaCl,
BaCl,
3 imL 2mol-  L~!NaOH  5mL20
NaOH Na,CO,
Na,CO,
4 2mol- L™*HCI pH= 5
5
6 NaCl
;
4.
3
1 SO
2 BaCl,
2 Ca*
2 (NH4),C,04
3 M92+
l 13 ” [1]
5.
1
2
3
4 pH HCI
5

(ep]

60mL

BaS0,
BaS0,
BaCl,

Na,COs
Na,COs
NaOH
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NH,+CO,+H,0+NaCl— — NaHCO54 +NH,CI
2NaHC0, £, Na,C0,+C0,+H,0

NH,HCO5+NaCl— — NaHCO5 ¢ +NH,CI

1.
NaHCO, 270
2.
1
2
3.
1
150mL 50mL24
1mol- L™*Na,C0,
6mol- L7HCI
[1] "
Mg(OH),
2 NaHCO,
219
30min
3 Na,CO,
NaHCO,
4. 1
0.25¢g
100mL

2mol- L™'NaOH

pH 11
pH= 7
30 35
NaHCO,
2h Na,CO,4
250mL

Mg



+

COZ +H
Na,CO,4 w (a,C05)

HC O3

w (Na,CO,) = c(HCI)V(HC)- BKQ%EQQxlo

0

c(HCI)  V(HCD)
mol- L* L M(Na,CO;) Na,CO, g- mol™ G

g

1 NaCl NHHCO; NaHCO; NH,CI 4
NaCl  NH,HCO,  NaHCO,

2
3 NaHCO, 30
29
1.
MnO,
2Mn0,+4KOH+0,— - 2K,Mn0,+2H,0
KCI10,4
3Mn0,+6KOH+KC10;— - 3K,MnO,+KC1+3H,0
3MnQO; +2H,0— - MnO, +2Mn0O; +40H"
OH"
CO,
3MnQO; +2C0O,— - 2Mn0O, + MnO, +2CO5
K,MNnO, 66
MnO,
2.
1



1
3g 79 60cm’
4q
Bmin
250mL 100mL
2
1
80
3
H,C,0,
4.
1
2
3
4
5
30
6

2Fe0- Cr,0,+4Na,CO4+7NaNO, — 4Na,Cr0,+Fe,05+4C0,+7NaNo,
Na,CO, NaNO,
Fe(OH),
pH=7 8

2Cr0%3 + 2H*=—=Cr*0% +H,0
NaNO, 6 3
pH )



Na,Cr,0,+2KCI - K,Cr,0,+2NaCl

2.
1
2
3.
1
69 49 4.5¢
4.5¢
30min
2
2 3
15min
10mL 40mL
3
4 5mL pH 7 8 AL(OH),
pH= 5
4
3 2.5g
pH= 5 15 20
K,Cr,0,
5
1g 1.5mL
40 50
6
2.5g 250mL 25mL 250mL
10mL2mol- L'H,S0, 29 5min
100mL 0.1mol- L™Na,S,0,
3mL Na,S,04
w (K,Cr,07)=



ESNOC I\l

pH=7 8 pH
31 NiO Ni
1 5-5
Zn  Hcl
HZ
SO, AsH, HCl 0,
KMnO, H,S SO,
HCI H, 0,
1 T
Cc—cC c—r=C C—r=C
_ S 1. "
21 C\||3=I|3/E —0K + 5 02=Hi— E\I:=|:/C - |:=|:”C —OE + Hp0
| ]
0K H H EO EllK ]l'[
H,S0,
2.
1 0.02mol- L™tKMno, 6mol- L™*
50mL 2 2.5¢9
8mLH,0 23g KOH 16mLH,0
50mL  H,S0, 4
2
1 5-5
1
5-5
2 NiO

1g NiO

H,S

AsH,

NaOH



5min

30min 700 800 1g NiO 40min

Ni Ni0

Ni
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2MnO, +5C,02 +16H* - 2Mn? +10CO, +8H,0



MnO; +5Fe* +8H" - Mn”* +5Fe> +4H?0

n N
n ny
3
M eff
M & =+/N'(N'+2)
M eff
M g = 284XMT
X—
M———
T— K
X m m
X m, m
my m
X=X %——X
*omg m
me——
m—

n, N

M erf



1 g
m— g
9500
=——xX0° T 3
S T+l
2 M eff 1 n'
2.
1
2
3
3.
1
8mLFeCl, 0.49g FeCl3/mL 20mL 129K,C,0,- H,0
0
20mL 0
10
2
1
2.5cmx 4.0cm 110 1h
0.3mg
0.5 0.69
110 1h
n
2
0.02mol- L™*KMno,
300mL 0.02mol- L™*KMn04 KMnO,
400mL 200mL
300mL
6 7 KMnO,
MnO,
0.02mol- L™! KMnO,
3 Nay,C,0, 0.15 0.18g



250mL 50mL Na,C,0, 15mL
2mol- L' H,S0, 10mL KMnO,
70 85 85 KMnO,
30s KMnO,
KsFe(C,04)5- 3H,0 110 1.5 2.0h
0.18 0.22g KsFe(C,0,)5 3 3
250mL 50mL 15mL 2mol- Lt H,S0, KMnO,
n,
3
2
2min =S Fe?"
Fe?* KMnO,
n,
n, n, N, n n, n, ng
3 KsFe(C,04)5
1
2
m
15cm
0.5mm my
5A B 0.5T m,
3 KsFe(C,0,)5 2
4 KsFe(Cy04)3 M eff
H eff KsFe(C,04)3 Fe**
4.
1

3 KMnO,

33



SnCl,

231 300

Sn +2Cl,, %$/#e SnCl,

cl,

SnCl,+(x+2)H,0 - Sn0,- xH,01 +4HCI1

HCI

3gKMNnO,

2 HCI

2 sncl,

SnCl,
5-6
5mL  HCI 0.5g
KMnQ,
HCI SnCl,
Cl, NaOH
HCI Cl, NaOH
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